
namt: 
1. Evaluate: (3 + 5)2 

2. 

A 8 
B 16 
C 34 
D 64 

w Solve: - - 1 = 1 5  
5 

A 16 
B 20 
C 70 
D 80 

3. Evaluate 3x2 -.xy2 whenx = 2 andy = 5.

4. 

A -& 
B -38 
C -64 
D -gg 

The Irvine family drove.15 .3. miles from Lakeview to N eW!)Ort_.a..nd,23 .4 mil  from Newport to Browning. 
On the way back, the Irvin.es took the same route, but they stopped fo:rluncb. after driving i 1.6 miles. If
they continue driving after lunch, how much farther   they have to drive .to return to Lakeview?

A 27. l  miles 
B 32.9 miles 
C 38.7 miles 
D 50.3 miles 
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